MAH MBA CET 2023 Question Paper PDF (March
25)

Verbal Ability & Reading Comprehension (VARC)

Question 1) What is the synonym for ‘Moribund’?
A. Brusque

B. Lively

C. Obsolescent

D. Lucid

E. Thriving

Question 2) What is the antonym for Dionysian?
A. Bacchanalian

B. Ascetic

C. Diluvial

D. Sensual

E. Spontaneous

Question 3) Shops should be furnished with a rack for fodder, a rack or
box for grain, and a water

container.

A. Pale

B. Pail

C. Pile

D.BothAand B

E. BothBand C

Question 4) What is the correct spelling out of the following?
A. Discombubulate
B. Discumbobulate
C. Discumbubulate
D. Discumbubolate
E. Discombobulate

Question 5) Fill in the blank with the appropriate idiom:

The authors have claimed that some of the criticism it has

received consists of __ arguments, contradictions, and flawed logic.
A. straw man

B. last straw

C. bricks without straw



D. straw in the wind

E. short straw

Question 6) How do you expect that country to progress when her
government is corrupt, and still largely feudal.

A. devalued

B. dwindling

C. despotic

D. demeaning

E. distended

Question 7) What is the synonym for ‘Besmear’?
A. Uncover

B. Overt

C. Cover

D. Extol

E. Remove

Question 8) centuries, people have been living the countryside.

A. Since, on
B. For, at
C. Since, at
D. For, in

E. From, in

Question 9) Correct the following sentence:

Machine A is more efficient at shredding these plastic sheets than is Machine B converting them
to small plastic granules.

A. Machine A is more efficient at shredding these plastic
sheets than is Machine B,

B. Machine A is more efficient at shredding these plastic
sheets than Machine B,

C. Machine A is more efficient than Machine B at
shredding these plastic sheets,

D. Machine A, more efficient than Machine B at shredding
these plastic sheets,

E. Machine A shreds plastic sheets more efficiently than
Machine B,

Logical Reasoning

Question 1) If the following words are arranged in alphabetical order, which word will appear at
the end?



e Olympic

e Olympia
e Oval
e Ovulet

Directions (2-6): Read the following information carefully to answer the questions given below:
Six persons A, B, C, D, E, and F like six different animals: bear, snake, panda, elephant, tiger,
and lion, not necessarily in the same order. Each one of them belongs to a different country viz.,
Korea, India, Sri Lanka, China, Japan, and Russia, not necessarily in the same order. B, who
belongs to Japan, doesn't like panda. C is not from Russia. The one who likes bears and
belongs to Russia is not A. A neither belongs to China nor likes tigers. The one who belongs to
India likes lions. E is from Sri Lanka but he doesn't like pandas. D is neither from China nor likes
bears. Either E or F likes snakes. The one who is from China doesn't like pandas.

Question 2) Who among the following likes lions?
A A

B.D

C.C

D. Either option A or option B

E. None of the above

Question 3) Who among the following likes snakes?
A.B

B.A
C.E
D.D
E. Cannot be determined

Question 4) Which of the following combinations is definitely
correct?

A. A-Lion-India

B. B-Tiger-Japan

C. D-Panda-Korea

D. E-Snake-Sri Lanka
E. None of the above

Question 5) Who among the following is from China?
A.B

B.C

C. The one who likes elephant

D. The one who likes tiger

E. None of the above



Question 6) Who among the following is from Russia?
A.B

B.D

C.A

D.C

E. None of the above

Question 7) If the following five words are arranged in alphabetical order. Which word will come
in the second last position?

1. Doctors
2. Teachers

3. Engineers

4. Students
5. Children
Quantitative Aptitude

Question 1) Bhumika is 15 years older than Sushant. The ratio of Bhumika's age 7 years hence
and Kiritika's present age is 3:4. If at present Kritika's age is four times the age of Sushant. What
was Bhumika's age five years ago?

A. 24 years

B. 26 years

C. 21 years

D. 33 years

E. 28 years

Question 2) Milk and banana shake are mixed in the ratio of 2:3. Naturally there is 90% water in
milk and 80% water in banana shake. Now 40 litres of water is poured into the mixture and 260
percent of water becomes —%. Find the initial quantity of water in milk.

A. 63 litres

B. 72 litres

C. 81 litres

D. 90 litres

E. 54 litres

Question 3) An inlet pipe can fill a tank in 5 hours and an outlet pipe can empty it in 36 hours,
working individually. At least how many additional number of outlet pipes should be used (apart
from one inlet and one outlet pipe) such that the tank never overflows?

A.5
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Question 4) Arun alone can do a piece of work in 15 days. Rahul can do
the same piece of work in 12 days. Arun and Rahul are

assigned to do the work for Rs. 1250. They complete the work

in 6 days with the help of Ranjan. How much is to be paid to

Ranjan?

A. Rs. 150

B. Rs. 125

C.Rs. 175

D. Rs. 225

E. Rs. 275

Question 5) A bag contains 1 rupee, 50-paise, and 25- paisa coins in a ratio of 8:5:3. If the
the total amount of money in the box is Rs 112.5, and the number of 50 paise coins is

A) 25

B) 50

C) 80

D) 30

E) 42



